GEFRAN

Ce

K

EFEHR

o EHEFE: M0—3F]0—500bar
EHER: M-1—+1F]-1-—10bar
o MHIES: 4.20mA 244/0,1..5,1Vdc/
0,1...10,1Vdc / 0...5Vdc / 0...10Vdc / 1...5Vdc / 1...10Vdc
o IRIPZELL. 1P65/IP6T
o IEfMMIRL: AISI 430F #0 17-4PH
s IATFEMITERE, RESESR

TKEXREZATEERKR, 2ESRERTIHE, ATE
BRATAELERESENERER RS, TKEDERSE
FERATH. =RSURERK. RN RBERARSGT
T2 s -

BRARSE
MHES BE Eh
ERERER (1) H +0.25% FSO #5/f ( +0.3% FSO & X)
(IR FIR D M +0.5% FSO ¥R (+0.6% FSO &X)

METE

M 0...3 bar £ 0...500 bar
M -1...+1 bar &l -1...+10 bar

RAATAEN (EFB (2 e
e S
BRI KHIA 13mA 32mA
50Vdc B4k PE i > 1000MQ
RARFLE 1mA nEF
Nia 57 B 8] (10...90%FSO) < 1msec
AR LR i HBMPR 10...30Vdc 10...30Vdc
HitH CNQ 15...30Vdc
RS (RMS 10-400 Hz) 0,05% FS
i AE BRANIRIP AN B 5] BB R AR P YES
580 L Bk R 5 P AR AP YES NO

MERESER

-10...+70°C (+14...+158°F)

RIEEEAYEE

-40...+105°C (-40...+221°F)

EFRESERE

-40...+125°C (-40...+257°F)

*MESEE FFAERS (zero — sens.)

< 0,2%FSO / 10°K #5

SRR IR R

Inox 1.4540 1.4016

SRR AIS| 304 54N/ e . 66F35V0
RIPER IP65 / IP67
CEI\E T HLFN%4%89/336/EWG (T EN61326)
MU IEC 68-2-6 100g/1ms
Pk IEC 68-2-6 20g HxA7E 15-2000Hz
- ~ 1109
FSO = #EMmL (FEENALES) 2 % F1000fTH2IMIR, ERIRIFLLRT E)< 2msec
1BFSL (REME) HELHZ 3 ZTF 1001732, BRFEHFERTE < 2msec
ENEE 3/ 4|5|6|7|10|16 /20 |25|30 | 50 | 60 |100|160|200| 250 | 350 | 400 | 500
BAAREN
(X=8) 6|8 |10|12|14| 20|32 40|50 | 60 | 100 | 120|200 |320|400| 500 | 700 | 800 | 1000
RHEEMA 12|16 | 20 | 24 | 28 | 40 | 64 | 80 [100|120 | 200 | 240 | 400 | 640 | 800 | 1000 | 1200 1200| 1200
68 (zip)529000
+ 86 750 3289680 3289698 + 86 750 3289699
http //www.leadersensors.com E-mail leader@leadersensors.com



MU R ~F

84
[3.307]
Ch 22
_E T
<t —
E S 98
) of S

12 2 12
[0.079] [0.472]

[0,472}
L=7/0
[2.756]
TIZ&EE
(1) G 1/4 BAZL (DIN 3852-A) (2) SAE 04 AS4395 - E
) A
LO.E T oo§ mE 7 B
@ ik & I
L
ch 22 Cch 22| §
L N &
2 155 | N
[0,2079] [0‘14272] [0-079] ostil ™
(3) G 1/2 A (DIN 16288) (4) G 1/4 BSL
[0‘15591] 13

[0.512]

|
L]
G 1/2

G 1/4
L2t |
[0.827]

Ch 22
“To.787] " [0.197] Lt7mm 2
[0.079]
RS EE
P - 7THR$Ek V - 61R¥EK F - 4tRE4E
g e B %
© 8
) — -
= Q 3 ™ o E —
=L~ o i
/_\/\ — /—\_/\ —
Z - Ak E - MR E AR E M - AHR 3 Sk IR 2
M12 x 1
— Ve’ OE
A7 3|ia o8 e
o e~ — a - ’;’




RS EE-EL
P - 7T#RiE kK

PE&FESK 09-127-09-07

V - 61RFEK

PALLIE L VPT02A10-6PT2 B B.452x0,25 - 2m. (§ith E)

IP67{RIPZER IP66IRIPZEL IPB5RIPZELR
Z - ARRPRLIE E - 44RIZ 2 &2 Sk F - AfR BB 4%
M12 x 1 M - AR £k B 4 sk
3
, =
0, 0
> 4 O I
34
[©)
wgz&%; ;oo 9LS);N 46350A - 1SO4400 RHRE LS 4%0,25 - 2m
N IP65{R 175 IP65RIAZE LR
I“Jﬁﬁgg?ggw"* #4142 42400 DIN 463508 - 1SO4400
R= IPESIRIA LR
BSIEZE-EEZEE
F & 4 AU K 25— 81 S B/C/M/N/P/Q/R
\ P F E/M zZ
i?ﬁ‘lr§§_1 e c 1 e 3 3
‘7:’ BEAE —
— o d D 2 #Fe 2 2
Mk
+ A 3 ae 1 1
o =s| B 4 | HESRE 2
L| s s | R D shas ( )
n
g0
R AR S oo
Z 400 AL F A X1
\ P F E/M Z % 200
— iR + A 3 ae ! ! >0 0 5 10 15 20 25 30 Vdc
1mox MiRRE
> ws T . |mesme| 5
kBT _
L] x| % i D s
M1
&k MiZEZ
EiEiE 33 S+ HIDIN43650B 1SO4400 CON 008
= N IPE5 R4 Z LR
53 3R+1EHDINA3650A 1SO4400 CON 006 P IE
ol ] ) y
'Z';ig?f*’“ SR MBS (RIPERIPET CON 321
= ViEfE
gﬁﬁ;}ﬁ%% CON 293 BRMES  RIPZRIPE6 CON 300




I L

~l: TK-E-1-E-B04C - H -V
TK & IfEEa%, HWlifES 4 - 20 mA, G1/4 AL J&EH:, DIN 436507 PRt <#Hsk, HJJyE 0 - 400 bar,

K5 £ 0.25% FSO, MRz 1

ms

R R AR
o o] e
GHiﬂTiij’trnSm (25ft) M4 CO8WLS 5 a5
ORIE S E15m (50ft) FA4E C15WLS A Ii&
BRI LH30m (100ft) EB4E C30WLS B @/ 26
:E:_.-‘-. 2 EErRER C B
EKE ES5RER 5 v
E P
F B
TT 5K 85
A n[ninnanuin]nin
e S e R I
FrvfE e IR E 7
0.1 - 10.1 vde] C
4-20mA| E :
0-.10 Vde| N Wi S 1)
e V B (< 1 ms)
0.1 - 5.1vde B
0-5Vde] M bi7i
1-5Vde] P H + 0.25% FSO (JLZdf)
1-10Vde| @ M + 0.5% FSO (JL#IAf)
1-6Vd] R
JiwapuzE: IE=En |
T bar bar psi
014 ABEL (2O OIN 1 NO1U | -1..+1 | B25U | 0..25 V15U | -15..+15
7/16-20 UNF-2A A 9 NO2U | -1..+2 | BO3D | 0..30 V03D | -15..+30
(SAE 4, AS4395-F) NO3U | -1..+3 | B04D | 0..40 V05D | —15.. +50
G 1/2A  (DIN 16288)| 3 NO5U | -1..+5 | BO5D | 0..50 V75U | -15..+75
bt NO1D |-1..+10| BO6D | 0..60 VO1C |-15..+100
G 1/4 K&#L (Bp) 4 BO3U 0..3 BO1C | 0..100 PO5D 0..50
1/8-27 NPT RHE3k| 5 BO4U | 0..4 | B16D | 0..160 P75U0 | 0..75
1/4 - 18 NPT BHEk| 6 BO5U | 0..5 | B02C | 0..200 PO1C | 0..100
/4 = 18 NPT Ak 7 BOBU | 0..6 | B25D | 0..250 | | p1&D | 0..150
W4 x 1.5 A%%| 8 = i
/8 = 27 NeT A8k 9 BO7U | 0..7 | B35D | 0..350 P25D | 0..250
G 1/4 ’ﬁiﬂ%i‘i)ﬁ%? (/L\\)A OIN BO1D | 0..10 | B04C | 0..400 PO3C | 0..300
— B16U | 0..16 | BO5C | 0..500 PO5C | 0..500
M2 x 1.5 A#:3k| R 302D | 0..20
7/16-20 UNF-2A A3k t P75D | 0..750
(SAE 4, J1926-2) (9| K « U 2 POIM | 0..1000
7/16-20 UNF-2A BE%3k P15C | 0..1500
sag 4)| F P25C | 0..2500
(%) K TAEERT): PO3M | 0..3000
630 bar (9137 psi) POSM | 0..5000
P75C | 0..7500
7 AR bR
il Gefran 747 1 A B4 £ PR AR RO R 6 ) ik
4 EHBE k) B HHATAHUE
G| F
4 Bk M2 x 1] Z
AR
4B E L] M
7TEHEL] P
6 FH%k| v




